Comprehension-5
Passage

Direction (Q1 to 5): Read the passage carefully and choose the best
answer to each question out of the four alternatives.
Even the best and strongest manager needs advice and double-checking. But not all the time. Part of a chief's essential equipment is to know when to scream for help and when not to: part of his duty is to be sparing of the time of other managers as his own―for time is the one irreplaceable corporate asset. Physical assets can be replaced, financial losses can be regained. No company is short of managers. The shortage is one of effective manager hours.

Unfortunately, managers have marked regressive tendencies in the use of time. Several studies have proved that if the managerial day is analyzed, large fallow periods pop out, which by self-discipline and changed methods the good manager can promptly fill up with productive labour. Any follow-up, however, would surely show back-sliding―probably to the point where as much as ever slips away like sand through the fingers. Possibly, in some cases, the eighteen-hour executive, by spending twice as much time as normal in ostensible work, gets twice as much effective time. But this is the wrong answer; the ideal of summit management, and of delegation, is to reduce the job content at the top to the bare minimum. The boss who keeps his desk bare and his diary empty, for one thing, is certain to be available when somebody really needs him.

 

1. According to the author, the ideal chief is one who spends
   (a) his maximum time on the job
   (b) at least 18 hours a day on the job
   (c) as much time as is essentially needed on the job
   (d) more time than his other colleagues on the job

2. Which of the following losses cannot be made up in a business
   enterprise?
   (a) physical (b) financial (c) production (d) time

3. If a manager uses his time effectively he
    (a) brings about the intended results
    (b) is always punctual in keeping his appointment
    (c) does nothing else but his work
    (d) is always vigilant

4. In the context of this passage, a regressive tendency stands for
    (a) indiscipline
    (b) less productivity
    (c) lack of interest
    (d) escapism

5. The most appropriate title for this passage is
   (a) the eighteen-hour executive
   (b) effective manager-hours
   (c) the best and strongest manager
   (d) the ideal summit of management

Answers
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